
Gewichte (mg, g, kg, t)

Maßeinheiten umrechnen

Variante

Blatt

6

21

Datum:Klasse:

Name:
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Kreuze alle richtigen Größenangaben an (es können mehrere sein)!

1 a) 1,87 g = ?

0,000000187 t

0,0187 kg

0,00000187 t

187 mg

b) 0,081 kg = ?

810 g

810000 mg

0,00081 t

0,000081 t

c) 22500 mg = ?

0,225 kg

22,5 g

0,00000225 t

0,0225 kg

d) 13,2 g = ?

13200 mg

0,0132 kg

0,132 kg

0,0000132 t

e) 2000 mg = ?

0,0002 kg

0,002 kg

0,000002 t

20 g

f) 0,0037 t = ?

3700 g

37000 g

3,7 kg

370000 mg

2 a) 0,011 kg = ?

11 g

1100 mg

0,0000011 t

11000 mg

b) 0,017 g = ?

0,0000000017 t

0,000017 kg

1,7 mg

17 mg

c) 0,0034 kg = ?

340 mg

34 g

0,0000034 t

3400 mg

d) 410 g = ?

0,041 kg

0,000041 t

0,41 kg

41000 mg

e) 6400 mg = ?

0,0064 kg

6,4 g

64 g

0,00000064 t

f) 13 g = ?

0,013 kg

13000 mg

0,0013 kg

0,0000013 t
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1 a) 1,87 g = ?

0,000000187 t

0,0187 kg

0,00000187 t

187 mg

b) 0,081 kg = ?

810 g

810000 mg

0,00081 t

0,000081 t

c) 22500 mg = ?

0,225 kg

22,5 g

0,00000225 t

0,0225 kg

d) 13,2 g = ?

13200 mg

0,0132 kg

0,132 kg

0,0000132 t

e) 2000 mg = ?

0,0002 kg

0,002 kg

0,000002 t

20 g

f) 0,0037 t = ?

3700 g

37000 g

3,7 kg

370000 mg

2 a) 0,011 kg = ?

11 g

1100 mg

0,0000011 t

11000 mg

b) 0,017 g = ?

0,0000000017 t

0,000017 kg

1,7 mg

17 mg

c) 0,0034 kg = ?

340 mg

34 g

0,0000034 t

3400 mg

d) 410 g = ?

0,041 kg

0,000041 t

0,41 kg

41000 mg

e) 6400 mg = ?

0,0064 kg

6,4 g

64 g

0,00000064 t

f) 13 g = ?

0,013 kg

13000 mg

0,0013 kg

0,0000013 t
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